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Combined Graduate Level Examination (Tier-Il), 2018

|FEOII No. TOPRANKERS

[Registration No. || TOPRANKERS

IName TOPRANKERS

Test Venue ION Digital Zone iDZ - 1 VKI Road No. 1
Test Time 10:00 AM - 12:00 PM

Test Date 12/09/2019

Subject [CGLE Tier Il Paper | Quantitative abilities

Section : Quantitative abilities

Q1 R arv gE-a = HeTES FY O 2016 F U F9 & OfT 3=
(A, B, C,D 3k E) Rfr RFawor &t gziar 7w § ik 9@ 717 E F 3w 3

uhe ==t (A, B, C, D 3T E) ¥y sr=aw iy flwror

A
=g
=C
mD
mE

2016 #, af% T 14616 T a=f 71§, @ 3e9c D H Freedr IS &=F 715 42
Ans o 1 4060

X 2 4263

< 3 4872

X 4 4096

Question ID : 558101455
Status : Answered
Chosen Option : 1

Q.2 ofx o= & fmT 19% 7z o7 &, 3 g oTm W s w9 ¥ FEw 12% @ S e
@ 37 @Wig J= 9 99w & O 7 e ofnm S FEm (T Peeeas ot &)

Ans X1 g
X28
V6
X7

Question ID : 558101377
Status : Answered
Chosen Option : 1

O3 APQR #, o = sfadw | §1 I LQIR=107° ¥ A P A AW E:
Ans x1' 73°
vz 34°

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//2207019234/220701923453D1609/15686434890698146/24050...  1/27



https://www.toprankers.com

9/24/2019 https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode 1//2207019234/2207019234S3D1609/156864348906. ..

X3 37°
X ¢ 43°

Question ID : 558101432
Status : Answered
Chosen Option : 2

Q4 h wp # REafdd & B0 BRes g & Avs 599 72 B ¥ o 78 B ¥ dias
=== =1 10 Tt 37 wep o &7 ¢ A 80 e i 99 T 4 et wE F afm oo I
¥ o wag & Femfiet & dtwg g5 0.7 Rremm oe S §) s @ oy F wp & Rt
Fr FEr FT 47

Ans o 1. 46

X 2 44

X o 54

X 56
Question ID : 558101394

Status : Not Answered
Chosen Option : --

Q5 36 wf HiaRw AW F TF HPITFER FOT TH W TS F S 30 F| I T wErE A 3 WA
T Tear HiT 12 W T Al SelTed el B 9T §) Jf 6 el ) Wl S & e o
el ATt @ aMEeTEar AR T?

ans X 1. 54
X2 27
v 36
X 72

Y

I Question ID : 558101409
Status : Answered

l Chosen Option : 3

Q6 (0.545)(0.081)(0.51)(5.2)
(0.324)3+(0.221)3—(0.545)3

Ans 1 3
X2 -3
X3
v —1

FAAE

Question ID : 558101364
Status : Answered
Chosen Option : 2

Q7 A B R C % AT F F@ 8 A FF G F 332 % PR w0 §, B AW G # 25% fer
T & 3 C 30 =g v Tl e w3 41 fE a9 & 3 7 For A 21,62,000 ¥ A 7m0 T A
w1 fewr 22

Ans %1 260,000
v 2 254,000
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# 3.281,000
< 4 290,000

Question ID : 558101395
Status : Answered
Chosen Option : 2

Q.8 gmwT =S U & T URr oF I F 36,076 HT 4 2¢ F 17504 & = ¥ ymw® Ay o 9 =
T FE

Ane X 1. 25,600 3 9%
X 2 35400 3R 10%
X 3. 25400 3T 9%
v+ 35600 3R 85%

Question ID : 558101387
Status : Answered
Chosen Option : 4

Q9 g arait #7800 F 499 W UF FT F AT LG I AW Aod TH & T E| o T
e &2

Ans X 1.125
X 2140
X 5120
v« 150

Question ID : 558101381
Status : Answered
Chosen Option : 4

Q10 (sec® —tan®)? (1 + sin®)? =+ sin?@ = ?
Ans X 1. cos?p

& 2 cos®

v 3 cot?@

& 4 secl

Question ID : 558101441
Status : Answered
Chosen Option : 3

QM zrE A AT B o Y ¥ 396 B gl W B ¥ wAEe S W ooF & RE, & wAw W X
;;r,A#sa:ﬁr:rqamaﬁr%aikYa;rBﬂA_xﬁvmmﬁua_ﬂa‘iaﬁQ—éttwﬁnﬂﬁ
g1y Froafy xFrgeen F 10 faeh g @i v Froafy (G oo @) F e

Ans & 1. 54
X 2 31
X 3 56
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v 4 41

Question ID : 558101403
Status : Not Answered
Chosen Option : --

Q.12 R or arams & 2013 & 2017 ¥ S 52 o & a1 s s BdE @ w03 &) o
o]

o M mports @ Exports

L]

500

{in T crorers )
g
g
N =
2

013 2014 2015 2016 2017

2014, 2016 3T 2017 # F7 F Fo AW 2013, 2015 X 2017 A HF F F 987 | FFa=
SR T 87 (Ve ERHed T A 6e)

Ans  X'1.15.8
V2145
X3 16.2
X 4134

Question ID : 558101458
Status : Answered
Chosen Option : 2

Q.13 50% wigar A 40 ST e Ui #1 80% Wigar A 35 Fey Hew Oie & R SEr i Ae g &
I F T A g

Ans X1 59%
V2 69?%
x 3 663%
X 4 66%

Question ID : 558101398
Status : Answered
Chosen Option : 2

Q14 mheot & omF 2x+ 3y = 113 -2y +12=0, P(x,,y,) R THEE F Fed § 791 g
x—2y+12=0 T TH Qlyy, J5) W X - HeT H FEaT gl aF (o, —x,+y +3,) F AR L

Ans X' 1. _g
K2 -11
v 15
<413

[ Question ID : 558101421 ]
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Status : Not Answered
Chosen Option : --

QA5 A 39l 317 &7 65% T AT &1 SHA @ & 20.1% # R g8 ¥ Falk 3wk g A 25% H g
7§ 21 35k T99 & Frae gie/mdr @

At 1% Fr gR
< 2 5% #r AT
X3 11% Fr Fr
X 4. 5% #r gfy

Question ID : 558101375
Status : Answered
Chosen Option : 1

Q.16 gfE (5x+ 1)+ (x—3)* +8(3x—4)°® =6 (5x+1)(x—3)(3x—4) & T x F AF Se=Toad & a7
e

x 1
X2
X3
v

Ans

L= L R VR I R = I 5 T Y I I 8

Question ID : 558101424
Status : Answered
Chosen Option : 4

Q17 ow ¢ 33 =wr A 3 U F A F I U FAS FGIE F el a8 a0 @) i)
TR # wars 24 Few | A swd e (e §

1
V53
X225

- 2
~ 3. 6;
K46

Ans

Question ID : 558101418
Status : Answered
Chosen Option : 1

Q.18 siig 5ot # ©F AT v ATT 18 Fpelr / Her & AW unr & TG 6 THAT / Her § 98 A9 URT & SeAVEE
(Upstream) # 90 &2 37 599a1E (Downstream) & Waw g1 foraat wavw (921 &) & 790 w0l

1
v &l 11;
<210

1
X 3 95
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K412

Question ID : 558101400
Status : Answered
Chosen Option : 1

Q19 (122 or53) = (624 o Y x(2x 23+ of 1) = 1 kA, K 7 o s s
Ans X1 —0.08 31k —0.07

X 2 —0.05 AT — 0.04

X 3 —0.06 HT—0.05

v 4 007 3R-0.06

Question ID : 558101363

Chosen Option : --

Q.20 oy Lsind _ :_z%-:Eﬂ'Seclﬂ Trafofaa & & hes Wt &

1—sind

Ans 1i(g B
1 4(242)
{ (p aq
K 2 —f—
Xs 2p2g2

X4 o-q

Status : Not Answered

Question ID : 558101447
Status : Answered
Chosen Option : 1

Q21 32 w=hr & = 3y 7.2 3 F 5905 F vF 7 T IW OF B VA wF 0.6 FA FAE H
FH TS 39 TN AT 81 $H A9 & WUN F1 OE haer 87

Ans X135 B
X242 3
V'3 32
X4 45 73

Question ID : 558101414
Status : Answered
Chosen Option : 3

Q22 s m i TT R T I FEawdmaa i W eh FowaT & A 7 g
¥ e T @ e otne st sifes rm Patfs fear o am

1

Ans
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<2 35

2
< 3. 36;
X4 27

Question ID : 558101384
Status : Answered
Chosen Option : 1

Q23 gfx x+y+z=2 xy+yz+zx=—11, 3T xyz = -12 § @ J B+ + 22— 2 @1 AF &
Ans x1. 9

X238

V6

X412

Question ID : 558101426
Status : Answered
Chosen Option : 3

Q.24 @ O %z T g0 A, AC HiT BD @ =W &1 Fw AC 3K BD sisgE T 19 £ 7 S E W e
¥ ofy AB = & 3t 2AEB=68° & & 2£DOC FT AW &

Ans  of 1 440
X 2220
<3 320
< 4 30°

Question ID : 558101440
Status : Answered
Chosen Option : 1

Q25 A B @ 25% Hfw & HT B, C W 40% A 31 I C, D ¥ 30% #W &, & A, D @ fFaal 9feme
w1 §7

Ans X 1§
X2 4
w325
X415

Question ID : 558101376
Status : Answered
Chosen Option : 3

Q.26 vw zfFs el 959 = 30F T AET T 16% FH T A §) I T ¥ 33 HRUE S aw
I 14% W A FET 3T 25% W S & U, 3@ avg @ e & dw wrfiwe

Ans  of 1. 31375
X 2 31305
X 3 3135
X 4 3128
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Question ID : 558101379
Status : Not Answered
Chosen Option : --

Q.27 gator 3x—5y = 1933y —7x + 1 = 0 & B # S g Pl f) ¥ A (3a—p) & A
FaT

Ans  of 1 1
X2 1
<3 —2
x40

Question ID : 558101420
Status : Not Answered
Chosen Option : --

Q.28 ws g7 & AB R DC & ST | 5% AB 3R DC # g fer = £, &7 3 P e ) oy
PC=56%d PB=63 T sit AB =77 % st CD 5o &

Ans X 1. 8.35 FT
v'2.10.15 B4
X 3.9.25 §Hr
X4 9 [

Question ID : 558101439
Status : Not Answered
Chosen Option : --

Q29 gfr zx @ A, B 3t C # 3w g & sl Bar smer & B A 3t B & @ew & seww 61 7

T B 3 C & st & 3w 3 0 2 #ar @1 Ay A i C & fawdl amoaiew TBAOE @ x oA
T

Ans X 1. 7425
« 27020
< 37290
o 4 7155

Question ID : 558101392
Status : Answered
Chosen Option : 4

Q30 zfy surE 37 $T TEAT 5678x43267y, 72 ¥ frar=w &, or /5x+ 8y F AT &
Ans XL 7

X228

<3 4

Vi

Question ID : 558101360
Status : Not Answered
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l Chosen Option : -- J

Q31 AABC F /B %7 fsmeE D # AC @ fiear &1 of AB = 10 @,
BC=11af sk AC=14 8 e SFTADF AT &

Ane X1 7 @
v = wa
X5 2
<46 TH

Question ID : 558101430
Status : Not Answered
Chosen Option : --

Q.32 off 8x*— 27y = (Ax+ By)(Cx* — Dy* +6xy) ¥, & (A+B+C—D) Tr=fatas & ¢ fos awar &2

Ans X1 g
<215
Vs 12
K4 —12

Question ID : 558101423
Status : Answered
Chosen Option : 3

Q.33 v dmR Bes T F w1 A A T 15 W i 3R o T of @ 9 fee
14 TFRT TN &, A 3 T @ U 9 § 7% O HOwoR e et (Hiet 59 &) g6ae
FLT?

(x = 2 )
Ans X 1. 3600
# 2. 3960
< 3. 3560
v 4 3300

Question ID : 558101411
Status : Not Answered
Chosen Option : --

Q.34 7fr 3(cot?0— cos0) = cos?0, 0° < 0 < 90° &, & (tan’d+ cosec®D + sin®Q) FT AT &
Ans 25

1.
X 12
X2

3
61
v &) =
15

X“-:

( )
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Question ID : 558101448
Status : Answered
Chosen Option : 3

Q.35 ( sind l—casA) : ( cotZA

1—cosd sind

+1) FTAF &

1+cosecA

Ans

Ko

X 2
v &)

X 4

(S O 0, TR S el 4

Question ID : 558101445
Status : Not Answered
Chosen Option : --

Q.36 fav av SwanE #F 2013 ¥ 2017 & Shw TR dur F 29 w7 amora At BT (3 w0 &) g
]

W imports W Exports

600

| in ¥ crorers )
g

BT 7w ofer 361 F U 20 F e e (9f 7)) 57 80% ¥ A g fR AN A
Ans «1_ 3

X2 4

X3 2

X4 1

Question ID : 558101456
Status : Answered
Chosen Option : 4

Q.37 A Rt = #7 40%, 12 TEAT & T @Rar 2, FaTF B IH F &1 60%, 15 AT & w ®ear &1 @t
10 feait o= U Wy FF X §1 C 99 FE @ 4 BEr # @ wer 1 A, B R C v w e
=T 1 F 28% fFer A & T e o

Ans ¢1_ 2 ﬁ?‘f
X223 kA
X1z R

VA

I
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Question ID : 558101406
Status : Not Answered
Chosen Option : --

Q.38 3 st @ FEeaw FAETE 21 § 3R 3w AUeR T, AEeR AAESE & 221 T 3
afy 37 Hemst & ¥ v 200 W 300 & @ Fr §, S @ = F A oA g

Ans - X114
X217
v 15
X418

Question ID : 558101369
Status : Not Answered
Chosen Option : --

Q.39 APQR & =T PQ AT PR Famn S AR T Rigst =1 dewm e #| L50R # 4TRO & gfsew U
o7 e ¥ W LQUR =T E @ P Er AT E

Ans X1 41¢
X 2 49°
K3 23°
W 4 220

Question ID : 558101427
Status : Not Answered
Chosen Option : --

Q.40 ¥ 50 B / wer Fr AfY @ ww W 2w A F Hy Oy A B A @ 3 o 30w o vw AR T B
forolre Rem ¥ oW 15 U%E H ow w & ¥ ofE 39 B A 9Ty 58 B/ Wer o, & 39 A B o
Fe ) &

Ans - X 1160
<2180
v 3. 150
<4 210

Question ID : 558101401
Status : Not Answered
Chosen Option : --

Q.41 i wor 1 244,100 H &1 A= ST Gl # 99 T §1 TR A w9 W g e el
5% 9 a¥ ¢ o gvea R IR e s &

Ans o 1. 36,200
X 236,000
< 3 36,280
X 435,840

Question ID : 558101389
Status : Answered
Chosen Option : 1
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** 3600 ¥ e TUEGE &

Ans X1 44
X2 43
X3 42
v 4 45

Question ID : 558101365
Status : Answered
Chosen Option : 4

Q43 za g s FEGT W FEE FH F T F OV R 4T E, S 3T qUAET 424 W F| FEE
I F THGEL & TUE 9T TEE YT TEAT F HH o AT F qon T S § A e 280
ol ¥ TE F 3w w0 SE &

Ans 1 g
<29
<37
K46

Question ID : 558101372
Status : Answered
Chosen Option : 1

Q.44 sin?p—3sing+2
g ——=——

cos2p

=1 & BaF 0°< 0 <90° & T (cos20+ sin30 + cosec2?) N AT FAT g7

Ans X 1 3-5-2‘\'"5

3

X 5 2+'\-"§

3

- . 34443
~ s
6

v 9+443

Question ID : 558101446

Chosen Option : --

Status : Not Answered

ass A x+—=3 & A 162>+ & AT g

Ans X1 441
V2 423
X 3. 432
X 4 414

Question ID : 558101425

Chosen Option : --

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode 1//2207019234/2207019234S3D1609/15686434890698146/2405...

Status : Not Answered
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L J

Q.46 cosecD—cotd By sing = ﬁ ﬁ ﬁ ﬁ ﬂ' ﬁ a %_9
cosecD+cot® " 14cos@ e 27
Ans X 1. cosecd

X 2 secd
ER

K 4 1

2

Question ID : 558101443
Status : Answered
Chosen Option : 3

Q.47 fas urg A F afer it e F A4 0 3 F g F ¥, T B org B # Fe R s oA
b:2Fypm Al v P ageaw F v A dR B F 5 : 6 F sgow # = e wer
&1 59 7% A uig 7 e F afeew Teatafds & feed feeaw o

Ans X 1. B4
X2 36.8
X3 342
v 35

Question ID : 558101399
Status : Not Answered
Chosen Option : --

Q48 v =z s e # O Few 97 4T ¥, swE 20% A PR w4 w7 O gem w aw
glea R sEi 0% ATt i wswrmRaRW ek MFmmwmdT L @
SHET 8T 9fgerT a7 gET? (UF SrHEEd BT O HE)

Ans X 1. 214
<2 234
s 227
<4 218

Question ID : 558101382
Status : Not Answered
Chosen Option : --

Q.49 oy v TH A F AT FOR H AT 1260° §| A 5 g & v aEl S AR oF i
PUT & AT FAT HaT IET?

Ans X 1.105°
X 2 120°
v 3. 100°
X 4 90°

Question ID : 558101433
Status : Answered
Chosen Option : 3
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Q.50 wF B OF F WAE FEET F S O F FET TG §1 ¥ 9N &40 A0 R o 2 o &
e &9 & 9 AN A g % [TORT &7 &1 HEd a4 gene

Ans X 1.9 :8
<227:10
<327 :16
v'4i9:10

Question ID : 558101419
Status : Not Answered
Chosen Option : --

Q.51 s Rt 7= 1 3w 3 FFw o dw arer & & 25% o @ @1 IRy 3R mew w 0.6% &
T & AT, @ o F Faud e

Ans X 1. 16.6
X 2154
v 13
X415

Question ID : 558101385
Status : Answered
Chosen Option : 3

Q.52 o Sl F por FEAE T FEw F [E FAIRE H T @0 @ A 9w Afrew ) 3 g
Faait & 2 3N wfer R & 2 el wA § T R S f Fe S 740 |
& For wAREt & L, swur Afor FAaiEt & e swE §2

Ans X 1. 308
X 2 320
v = 400
X 4 340

Question ID : 558101373
Status : Not Answered
Chosen Option : --

Q.53 ow wa Few #7 FuR FEohT § Al gl T 20 #3219 B 20 B € AR sEer arwEw
7560 Bl &, At sEGT RS PO A (I IE D &

Ans 1. D556
v 2 2520
X 3. 2448
X 4 2484

Question ID : 558101417
Status : Answered
Chosen Option : 2

Q.54 mmﬁ'\rﬂg(mghtpymmid)mmma@ﬁrmmﬁﬁw%aﬁzm“ﬁémﬁ &
& Rofas & amee (I E) &
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Ans X 1. 480
X2 1152
v 384
X 4 576

Question ID : 558101408
Status : Answered
Chosen Option : 3

Q.55 &7 et 3% x y 3T z x>z F BHF &) 9 398 ® Hed oI F WY 98 ¥ RwiEd B =
t, d <fome = Bmemr & o By § 00625 3F ¥ AR x+y+z=12, @ xrz I AW &

Ans %1 B—2 45
X2 y3—y2—5
Vo V3425
X+ VZ—V3—5

Ans 7
1=
a
i
2
&
X3
25
« 4. —
24
Question ID : 558101366
Status : Not Answered
Chosen Option : --
Q.56

s [10+2(V6— V15 - V10) Feefafem # & frrs awe &7

Question ID : 558101371
Status : Answered
Chosen Option : 4

Q.57 (ran29°cor61® — cosec?61%) + ror254°— ger236° 4 (3in?1° + sin?3° + Sin®5° + -+ 8in*89°) &1 HiA &

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode 1//2207019234/2207019234S3D1609/15686434890698146/2405...

Ans 1
W 1 20-
2
X2 22
K321
1
K4 22=
2
Question ID : 558101450
Status : Not Answered
Chosen Option : --
Q.58
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A 3ft B #r Rrod 9 o8 & a1 ges 40 3 w39 O ) Rod o koo o & Aftes
I E T FEw 34N s st MAg I F R Fgmaw w4 TEE B A
fEroer a0 $r s

K 1.328 9T
X2 324 9@

X3 336 @G
v 327 T @

e — T —
Question ID : 558101390
Status : Not Answered
Chosen Option : --

Ans
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Question ID : 558101380
Status : Not Answered
Chosen Option : -

B

Ans

Q.61

Ans

Q.60 v T el ofF F HWR FT ATES 4007 § AR THH FE 15 T ¥ 0% F IF T A

(@@ &= ) &

v 1. 500w
X2 480m
< 3 450w
K4 BB0m

Question ID : 558101415
Status : Answered
Chosen Option : 1

4 959 ¥ 5 AR vE F # 15 A A @ Y @4 § a4 9 99 AN 6 Afgad 36 F7A
10 et & o ¢ T €1 #0038 @E = 7 R & 9y e & T, 4 9w & wn R
AfganHt F FH 9T w7 g

X114
X2 11
V'3 13
X4 12

Question ID : 558101405
Status : Not Answered

Chosen Option : --

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//2207019234/2207019234S3D1609/15686434890698146/2405... 16/27



9/24/2019 https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode 1//2207019234/2207019234S3D1609/156864348906. ..

Q.62 a4BC &, AD, BE, 3t CF mfewmre, O o fwelt #1 AOE 3R AABD % &i9wer 7 3ere 9T 2rm?

Ans 1.2 = 1
X23:2
vs33:1
X45:2

Question ID : 558101428
Status : Not Answered
Chosen Option : --

Q.63 =7 A 3k B vw ¥ # w16 5 A 24 R # aw wea 3k omT C 3w o oy I oA s
x 9 & WA FT FFA g1 F I # v Wy guE 10:30 & = # feaw owm, ofw C o
2:30 Tt 52 &7 fTT o) seme e Bw oe S 8:30 @ Fy T wor w8 x F oA s R

Ans X148
V2 96
X3 45
X4+ 64

Question ID : 558101404
| Status : Not Answered
L Chosen Option : --
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Ans X143E
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Question ID : 558101361
Status : Not Answered
Chosen Option : --

Q65 +3n20 + cot20 — sec?( cosec?P FT A oEAonAT F ¥ FOF SUST @2
Ans & 1. 1

w2 -2

K3 —1

x40

Question ID : 558101444
Status : Answered
Chosen Option : 2

Q66 v fsger #r ST 56 ¥, 90 W AT 106 T 1 sHH TR FH W &
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K 3109«
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Question ID : 558101429
Status : Answered
Chosen Option : 2

Q.67 secH{1—sind)(sind+cosp)(secd+tand)

sin@{1+tand) +cos@{1+cot®)

Ans X 1. 2sind
W 2 sin® cos®
& 3. cosec® secd

& 4 2cosd

F1 A fo=faf@a & O s suer 2

Question ID : 558101442
Status : Answered
Chosen Option : 2

(w = = #hf3r)

Ans  of 1. 1386
X 2 1337
X 3 2772
X 41323

A8 AR v wivr &7 s 4851 WAT ¥, A swEr AT & (VA ) ¥

Question ID : 558101410
Status : Not Answered
Chosen Option : --
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Ans 1
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Q.69 v Fam 3, g Famfin: & v F ¥ T & wEw 03 l% ¥R dw sy § R sman
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Status : Not Answered
Chosen Option : --
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Q.70 .ABC 3y ADBC ®aAW HMW BC W § of sahr RAedia genet w1 §1 AD i BC wF q@t #1 O
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X3-Z—bx

Ans

X4- {a+b) .

Question ID : 558101435
Status : Not Answered
Chosen Option : --

Q.71 adBc # A B 3R C & smea @l 7 @ Sde gemet o S D, E st Fow B #1 AD,
BE ¥t CF fig P =7 e Frze ¥ oy 2EPD = 116° ¥ M A 1 /B ¥ 3femsw Q = B £,
ar 2AQB @ AT T g

Ans 21 g4°
X 2 96°
X o 124°
v 122°

[_ Question ID : 558101431
Status : Not Answered
Chosen Option : --

Q.72 33 mEmat # dEs 74 ¥ wEet 17 wewet @ w728 €t 3w 17 demedt o sitee 772 T
ofy 178w # e B = & 9w gemEt 7 e w=m g (v avEes B 8% ')

Ans X 1. 73.4
<2708
<3716
w4729

Question ID : 558101397
Status : Not Answered
Chosen Option : --

Q73 gfr x = (164)1° +(333)%37— (727)72¢ ¥, &t x #T THE 37 T &7
Ans X1 g
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X3 7

W48

Question ID : 558101359
Status : Answered
Chosen Option : 4
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Question ID : 558101393
Status : Not Answered
Chosen Option : --

Ans

v 1 756
X2 739
X 3 758
X 4 737

O Ffr 2 —83x2+1=0, @ ¥ —x~° FH AT & TFaT T

Question ID : 558101422
Status : Answered
Chosen Option : 1

Ans
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Question ID : 558101367
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Ans
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Question ID : 558101413
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Ans
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Question ID : 558101383
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Chosen Option : 3

Ans
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Question ID : 558101437
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Question ID : 558101453
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Question ID : 558101438
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Chosen Option : 4
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Status : Not Answered
Chosen Option : --
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Question ID : 558101402
Status : Answered
Chosen Option : 1
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X20
Vs 1
X4 2

Question ID : 558101449
Status : Not Answered
Chosen Option : --
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Question ID : 558101378
Status : Answered
Chosen Option : 4
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Question ID : 558101391
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Chosen Option : 4

Q.95 AABC #, AB = AC 3iT D, BC W w& fiig #1 aff BD = 5 ¥sh, AB = 12 ¥ 3iiv AD = 8
& CD #r =9 T

e X114 3
X 2162 T
V'3 16 BT
X< 414.8 T

Question ID : 558101434
Status : Not Answered
Chosen Option : --
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Question ID : 558101370
Status : Not Answered
Chosen Option : --

Q.97 g @R P 3R Q F R F Foga Avg &, 395 09 H 59 F For FAw 30° H#y 60° F AP
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Ans 1.4 =2
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Question ID : 558101451
Status : Answered
Chosen Option : 3
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Question ID : 558101436
Status : Answered
Chosen Option : 4
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Question ID : 558101368
Status : Answered
Chosen Option : 3
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A pylindrical vessel of radiuz 2.5 m is full of water. If 15400 litres of warer i talcen out from it, then the drop in the
water level in the vessel will be:

Ans X 1. 35cm
X2 72cm
v 3 40 cm
& 4 60 cm

Question ID : 558101416
Status : Not Answered
Chosen Option : --
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